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SAT Question

1. AEATA TR @7 AfoTFE Bog et afeTae @ T -
(A) 90° (B) 180° (C) 270° (D) 0°

2, WY G0 -
(A) (o33 [ (B) (Fad M (C) && Fif* (D) &I 7%

3, GT{ ( *FA1 “heq ¥ ©f 27 -
(A) TS (B) T (C) TIPS (D) WAFBIS

4, TR Alit=d ¥ (A Cofd @Y A -
(A) ¢TI (B) 2124 (C) @R (D) @feigd

5. XML < Qe T T 8 e IF W0 (¥ GIA AIZA O N Al -
(A) TPTEMCe (B) TMEATE (C) A=A (D) S=CHIreT

6. S Gb ITO ARG I -
(a) feBifsE-A (B) feBifE- D (C) fBIfE-E (D) fobifsE-K

7. (I G SN TFNT 12 992 OF 7P 19 T TOGT eyt T -
() 126 (B) 7% () 31 (D) 10/

8.3 =aiF (AT WifbaiEite tofs < -
(A) fSewr=izar (B) fSsa (€) coifwfferas (D) 356

9, (PG TFAMACIR *1C +F -
(A) SfFCEe (B) S&sl (C) ST (D) &

10. TTRICA AT 4t = -
(A) feferisneatl (B) @e e (C) §-91 (D) Ff&

11, WEE R T B @0 T 2 -
(A) TRmIBT (B) 3612 2512 (C) g6 ( D) Hfeamivm

12. T8 R 7AW St QR e R =7 -
(A) 3-%1% (B) (A9 (C) dif (D) Tava

13. TG OF T SEIE -
(A) SR FC (B) 7f? (IR @19 AT (C) AFCEHT (@9 T (D) AHFCHR Hifewl e |

14, RAce 7 T % 91 W @ @ To7 oS 7 ot =1 -
(A) SFFCRAl (B) ANFFCAA (C) @fwwicaal (D) s



15. SR Fieamt «3fb -
(A) BT #IFS (B) B 21K (C) St »S (D) Fems +1de

16. (RGBT 2 -
(A) ~RerafEs JAeTef (B) #fel WS (C) FeTe WS (D) Adtey e

17. ST TS APRBT 1 -
(A) #™ (B) A (C) AT (D) ST

18. 0 O (F (AT SRS -
(a) &S @Aive (B) F91 (C) it (D) «@ias

19. IS8 foree -
(A) *MITES TOIF (B) NAETR T (C) THRIEA ToOIF(, (D)ANT™ (BT el I

20. NI GIF TF N9 (ofF T -
(A) FCST™| @ (B) 7% (9 (C) IAE (9 (D) FISt A& (BT

21. (3¢ fRuaiced A &t 2w -
(A) FTBES T FI (ACE (B) ANBRS I (A (C) 5HM (A (D) @@ &3 (A= |

22, QTN @I -
(A) @& S (B) &R Wa (C) t&e Sfaa (D) fage g

23. YTRRIMF AT toft 7T -
(A) 1591 fR5ITH (B) 1594 961 (C) 1612 RPOIH (D) 1596 —R¥BIH

24, ~fRIT TG T e HeRyi g -
(A) ©IFCS (B) BEHICS (C) FIT (D) ST

25. (PN FAGWA SN Fera e efefs =7 -
(A) ®% (B) I (C) ¥ (D) ¢ole Al

26. "oF' AHT qE JE -
(A) @13 (B) *IF¥ (C) I3 (D) ==

27. 3ot 95 3 i tofe =W -
(A) 1505 51T (B) 1600 fFBI (C) 1602 RGITH (D) 1706 fRA¥BIH

28. " AT GO -
(A) T (B) 7w (C) <5 faee (D) et

29, TG &AfS’ SO (1 IR T I JAAR?
(A) ITE - *FR (B) W - @S (C) & - & (D) e

30. "9 A T 79 G I - FeiBg TR -
(A) TR SFE=E (B) fwmnem (C) facermea am (D) @iiars Hifwt
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31. "o o7 aY ZEE -
(A) ATFS (AT QIS (B) ATFCSH A 77 (C) FRFCSA AN (D) FUOIZ AN 8 WL |

32, [ 4IgS AR & T, ©LF 0T -
(A) FIT Ao (B) I &SR (C) e O (D) HF© A

33, 'oie Sief! TR IRNEART @ IJAY (AF (S AR?
(A) GTIIE S (B) I8 (C) Mol (D) wfafas

34. Choose the correct homonym of ‘wonder’ -
(A) Onder (B) Wander (C) Under (D) Wandar

35. Identify the participle adjective
The captured prisoner has been sent to jail.
(A) Captured (B) Prisoner (C) Sent (D) Jail

36. What is the superlative degree of the word ‘Evil’?
(A) Evilest (B) Most evil (C) Worst (D) None of the above

37. Fill in the blank with correct form of verb given in the bracket
She ... (watch) when I entered her room.
(A) Watch (B) Is watching (C) Watched (D) Was watching

38. Fill in the blank using the correct suffix or prefix.
We should not ........... (courage) anyone.

(A) Encourage (B) Discourage (C) Miscourage (D) Uncourage

39. Identify the nominal compound in the following sentence.
Since it is raining you should wear a raincoat.
(A) Raining (B) Since it (C) Should wear (D) Raincoat

40. Use the correct modal auxiliary verb in the blank.
We e on no account allow him to escape.
(A) Would (B) Must (C) May (D) Need

41. Identify the adverb in the following sentence.
He tried to do the sum twice.
(A) Tried (B) To do (C) Sum (D) Twice

42. foafor «fesfiat <= - sem

(A) 118 G (B) 28 3+ ¥ (C) 28 @Y (D) 118 3°f I



43. @3B IACFER A @FIT I = -
(A) 60° (B) 70° (C) 80° (D) 90°

44, m 277 foafd & 2@ @t -

w el o o) D .

45, T TS fargrem w6mweR € 77 -
(A) ALARAR (B) AML-(FF-AL (C) (FIF-(FE-(FIF (D) (FI-R-(FI

46. S WY @D [T few o et e
(A) @ (B) faet (C) el @ Rl (D) @ieaBe w7

47. 1.69 @F 1T -

(A) 13 (B) 1.3 (C) 0.13 (D) 13.03

48. 144 /I, OE/ETFCE “AfF9® I 2T -
(A) 40 T6/CTEFE (B) 33 B/ (C) 20 NBR/EES (D) 44 NoE/ TS

49, (24°+10%) @3 1T = -
(A) 24 (B) 25 (C) 26 (D) 28

50. fAefEfe ot Tz : 7a’b’c’/a’b’c?

(A) 7a’bc® (B) 7ab’c® (C) 7a’vbc® (D) 7ab’c?

MAT (Bengali Version)

51. P, Q, R ¥R S OF (¥R P @R Q WM | § I 7w face | p ¥ =7 Tt IX 0 oz & Tex
e ¥ T

(A)Q®B)R(c)s (D) P
52. 2t P CEGT e Sifem orge <91, "8 WiNiE F FANT @ 1" Qs e (BT 4P (@ ?
(A) Sfaefs (B) =01 (C) & (D) @

53. BoIf Fos)ef waTS FAMdF W1 9T I

TOo! FOM..........

(A) AR (B) T (C) 7T (D) T=PeIH

54, FRS! [ A - 34, 44, 54, ...

(A) 74 (B) 64 (C) 84 (D) 24

55, M ‘@’ T ¥, b’ WA *, ‘C’ WA ', GR ‘d’ WA +, ORA 8 c 2 b 3 a 4 G Wq F©?
(A) 13 (B) 11 (C) 17 (D) 19



56. 93T ¥ W A 3:15 1 81 @R G 2Teq M9y @4 7797

(A) 0° (B) 7.5° (C) 90° (D) 37.5°

57, W 'MOON' T¥ 'NOOM' ¢F & 'STAR' TF ...7

(A) RATS (B) TSAR (C) ARTS (D) TARS

58, fRreef® g: 32, 64, 128, 256, 300

(A) 64 (B) 128 (C) 256 (D) 300

59. Rearef s T clrenst, s, g2, =

(A) ¢t (B) #4 (C) G2 (D) I

60. AW G AIDI IATS 6 STTF 9 ToI TN AT, ST GFL AT IATS 3 &F (AT F© T AI?
(A) 12 51 (B) 13.5 <1 (C) 18 <1 (D) 27 01

61. GG [ OIF (REF GTT 3 @t ITA | 15 I=A =17, o o7 xrera vex fawet 137 2371 T I
] 7

(A) 30 (B) 45 (C) 60 (D) 75

62. “BBITR 2T I &G 5, 10, 20, 40, .2

(A) 50 (B) 60 (C) 70 (D) 80

63. | I 3 MYIMBE & G FAt A @t IEF SR TEF FPTH I3 I | GO @I Hedr?
(A)o(®)1(c)10 (D)5

64. I AT 4 G =P WTIT G T7F AF, I IR ATSA 7

(A) 16 cm? (B) 24 cm3 (C) 64 cm3 (D) 32 cm3

65.TTUGRSRIUTV AT T VT W G @ T PO w @7 it sif¥e?

(A) 5151 (B) ©I2 (C) ®ial (D) foret

66. 50 TR G AT, 30 T EFCFB, 20 T FHIE, AR 10 T TOHR A7 I | {HEH I Fhe FoE
AR AW IEA?

(A) 30 (B) 40 (C) 50 (D) 60

67. A 93Ew IfE Tex s T2 07, 2w I e 90 ff 717, wizeet 180 fofat <feq R e
s, ot @97 @ e I I A?

(A) T&= (B) mfwd (C) 2K (D) #APow

68. st =171t F AGT: 1, 4, 9, 16, .2

(A) 21 (B) 25 (C) 30 (D) 36

69. eme fora T3 3 e

5
L]

_|_

—

(A) 11 (B) 13 (C) 14 (D) 15




O
O
O

D

w0l ® Of el @
71 @ne BT, a:b=3:5 @R c: b =2: 1. ISV AR AT F?

a’ b’ c’

4l -
- L

(A) 1100 (B) 1000 (C) 800 (D) 1300

72. T I x IF ) = IR W © IEF IT 4R ARG G ¢ I=EH I8 | IR (W16 I3 I |
(A) 3(x + 1) 9= (B) (3x + 1) I=F (C) (x + 10) I=F (D) 2(x + 8) I=A

73. fart afSfb 120 Biwtw vft o Tt f[fer woar) fF a4w st 25% e Fwfee™ e TSk et 25%
T Feaced | o Rfew &y o siwfas e 3 wfe vo e

(A) 18 @F =11® (B) 40 U 6 (C) 24 «F &® (D) 16 €F Ffo

74, PifaeS s T

> v [<] 7
A 2@ [*F ) [vi (D)1l

75. @we foug, fagals o dfefafyg v, Tferalt Fefmom dfesffag 3w a &b @vom
gfsfafag T3 forae @ 9t v e dfeffig Tw T Fefw 8 @b T77

B

(A)A(B)B(C)C(D)D o

76. 766 (T A, B, C, D @32 E 71797 WIS SR 1 A T C 4R D IF TP «R B T4 D IR E @F N |
AR @ (EIeE ToF eiite Mifew At (reETe Afefg we?

(A)C,B (B)E, C(C)E, A (D) A, C

77. P @36 & 9 T F9CS #Itq 1 Q P 97 (AT 50% Q@ 7% | «F2 FI& FaCe Q U7 T© e =eat ot =&

(A) 131/2 (B) 41/2 (C) 6 (D) 3

B2
x7B
78. 6396

Tt (MR #1t, B @30 7P| B @K NI 2o
(A)3®B)5(C)6(D)s




79. GFB FASCHFARFE ICHI B, AT @R ANER Gl «fafos 1 ¥ GaiFia wdwe AN -

(A) ICTI SIS (B) AT I1e (C) TS faeel (D) TS I5(CFa

80. Rl © Bf Bietice 5111 ol @ Fies vieme o i U3 [FEoTER 1/41 6 3 6 vieiice Gies
MY TSI GAFIE Blelcs 222
(A) 3/4 (B) 31/4 (C) 7 (D) 12
81. TATES wra A T | ! !

(A)1(B)2(Cc)3 (D) 4

82, faafEie forer fargres syt oot =1 |
(A) 8 (B) 10 (C) 12 (D) 14

83, O GIFerFAFR A v 14 G, Twet 8 G ¥R 27 3 G| wTe T2

14 cm

18 cm

(A) 25 cu cm (B) 42 cu cm (C) 112 cu cm (D) 336 cu L \u/e,\cm cm

84. o1 Fricer @ McB (ICt (I G forge CofF FCACR) GO (A 2T 45° 1 fIT fargrers gow
@R sAfaiel 2

(A) 30° (B) 45° (C) 55° (D) 60°

85. eme fora e forza (2) BT et sweyifs it =2 6| 30 729

48

(A) 18 (B) 32 (C) 45 (D) 112

86. A TeGETOIT TIFIF, THIIACE AW, TVCE e, RS AT, TN P T AR P W o1 <
OIREE U TR A2

(A) @ (B) I (C) 25w (D) e

87. Pifated 5=t 7™ 2, 5, V2x3, V7, 2V2,... T

(A) 10 (B) 3 (C) V11 (D) V13

88. ‘¥ ORI Y Yo

13 17 25 ?
(A) 41 (B) 45 (C) 50 (D) 52 /\ /\ /\ Z\
5 12 8 24 9

15 7 40
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89. FIet, o ¥R GETT TR IF | A WG GFG2 G HieATs T | Fier: &y 1S sieties 7 fet:
ify M srETe W 9 gETS; Fie T BETe T TSI WY GITHAR S AR | (F HIAICS AH?

(A) ¥ (B) @ows (C) = (D) 1R fam <=1z

90. fA5% et sy @ e

1. #ifQ19 2. WA 3. T 4. G 5. (AR
(A)3,1,2,45(B)3,1,2,54(C)3,1,425(D)3,1,4,5,2

91, GIWA (AT AT & G GERCACD I O IR (BRET T WAL F79T | @SHADCS LA
erFARE GfRe IR T« I8, TH GRE toff FATe (¥ (AT Y A I 20© AR | feew foafs
TG A |

X X X X X X

20(6 (BfaeT AT ToGe (@ IS A2
(A) 60 (B) 94 (C) 82 (D) 76

92. 4T TISIT WA o6 2T A7 G Af® T Gf> T Pt (ATe T | @FFS 7= T

(A) 1 91 (B) 2 BT (C) 3 BT (D) 4 FDI

93. U2 e @tet siwe =@ o [ 9

(A) ¥&R (B) ITOI (C) J4R (D) T

94. G5 MY, A T FTT AP JECF AT FCACA | WA GX (P AT SC=?
(A) 5T (B) 3 (C) ¥ (D) 8¢

95. fReere Se: wfscem, FRGITH, G, TRETE

(A) SifsTCer (B) 21Regeer (C) % (D) MRGTE

96. fRrael rr f: e, eyifife, wierpe, wfew=

(a) Jreeifere (B) Sififs (C) FEpa™ (D) wifoxa

97. & O T (TN T T

(A) @ (B) ¥ (C) famifirs (D) f&sbm@



98. QG T ALER' @AW FAGH' T4:

(A) %P7 (B) SfHTeM (C) I TR wrRe (D) =if

99, fireefd & : 3, 5, 11, 14, 17, 19

(A) 3 (B) 14 (C) 11 (D) 19

100, A "¢ 'OCDMFK' R (1T T3t 27, S 'BRUSH' IO (FC T TH7

(A) AQTVG (B) AQTRG (C) CQTSG (D) ASVGU




Class VII
SAT (English Version)

1. If a ray of light falls perpendicularly on a reflector, the angle of reflection will be -
(A) 90° (B) 180° (C) 270° (D) 0°

2. Dilution a -

(A) Vector quantity (B) Scalar quantity (C) Gain quantity (D) None of these

3. Sugars found in milk are -

(A) Fructose (B) Maltose (C) Lactose (D) Galactose

4. Medicines prepared from the bark of cinchona tree are -

(A) Penicillin (B) Quinine (C) Reserpine (D) Ephedrine

5. To complete the food chain, the organism that is placed between grass and frog is called -
(A) Grasshopper (B) Hummingbird (C) Rabbit (D) Arshola

6. Helps in blood clotting -

(A) Vitamin-A (B) Vitamin- D (C) Vitamin-E (D) Vitamin-K

7. If an element has atomic number 12 and mass number 19, the number of neutrons will be -
(A) 12 (B) 7 (C) 31 (D) 10

8. Antibiotics are produced from which fungi -

(A) Neurospira (B) Mucor (C) Penicillium (D) Yeast

9. Which is not a condition for germination -

(A) Oxygen (B) Warmth (C) Light (D) Water

10. The highest peak in Europe is -

(A) Kilimanjaro (B) Elburz (C) Mont-Blanc (D) Fuji

11. Diseases caused by arsenic pollution are called -

(A) Minamata (B) Itai Itai (C) Blackfoot (D) Silicosis

12. If there is high velocity in low stream of a river, then is produced.

(A) Delta (B) Doab (C) Creek (D) Riverbed
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13. Eutrophication results in water bodies -

(A) Weeds decrease (B) Nutrient supply increases (C) Oxygen supply increases (D) Oxygen demand

decreases.

14. The line on which clocks on earth are fixed is -

(A) Axis (B) Equator (C) Meridian (D) Equator

15. Fujiyama of Japan is a -

(A) Volcanic mountains (B) Stacked mountains (C) Fragile mountains (D) Eroded mountains
16. Chotanagpur is -

(A) Mountain Plateau (B) Lava Plateau (C) Eroded Plateau (D) Disrupted Plateau
17. The tropical grasslands of Africa are named -

(A) Pompas (B) Savannah (C) Sahara (D) Llanos

18. Rugged areas are located in countries -

(A) British Isles (B) France (C) Germany (D) Athens

19. Banbhatta was -

(A) Sashanka's Sabhakabi (B) Gopal's Sabhakabi (C) Harshvardhan's Sabhakabi, (D) Rajendra Chola's
Sabhakabi

20. Gaikonda built the Chola Puram temple -
(A) Rajendra Chola (B) Laxman Sen (C) Ballal Sen (D) Raj Raj Chola
21. The story of Kaivarta Rebellion is known as -

(A) From Ramacharita Manas Kavya (B) From Ramacharita Kavya (C) From Charyapad (D) From
Buddhist texts.

22. Ankorbhat is a -

(A) Buddhist temple (B) Shaivite temple (C) Jain temple (D) Vishnu temple.
23. Charminar in Hyderabad is built by -

(A) 1591 AD (B) 1594 AD (C) 1612 AD (D) 1596 AD

24, The world has the largest written constitution -
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(A) India (B) England (C) France (D) America

25. Nalanda University was established during which emperors -
(A) Gupta (B) Pala (C) Sen (D) Chola king

26. The word 'Tantra' means -

(A) Law (B) Rule (C) System (D) Rule

27. The English East India Company was created by -

(A) 1505 AD (B) 1600 AD (C) 1602 AD (D) 1706 AD

28. 'AME AT @ -
(A) T (B) e (€) F5 fqeee (D) Ffqer

29. "G Afe' SRS (T IgH T I JCACR?
(A) I - *FR (B) S - (@S (C) qrw - I (D) e

30. 'R 97 I 91 Af@ iR - FiReifbg wvfret -
(A) TMCIRS SFEER (B) fwmiiag () fatsrmsiet @ (D) @ir=re st

31. The word 'tatsam' means -

(A) Caste from Sanskrit (B) Not equal to Sanskrit (C) Equal to Sanskrit (D) Both are equal but

meaningless.

32. That which joins with metal is called -

(A) Bengali Suffix (B) Krit Suffix (C) Taddhit Suffix (D) Sanskrit Suffix
33. The poem 'Bharat Tirtha' is taken from which book of Rabindranath?
(A) Sonar Tari (B) Balaka (C) Gitanjali (D) Agnishikha

34. Choose the correct homonym of 'wonder' -

(A) Onder (B) Wander (C) Under (D) Wander

35. Identify the participle adjective

The captured prisoner has been sent to jail.

(A) Captured (B) Prisoner (C) Sent (D) Jail

36. What is the superlative degree of the word 'Evil'?

(A) Evilest (B) Most evil (C) Worst (D) None of the above

12



37. Fill in the blank with correct form of verb given in the bracket
She ... (watch) when I entered her room.

(A) Watch (B) Is watching (C) Watched (D) Was watching

38. Fill in the blank using the correct suffix or prefix.

We should not ............ (courage) anyone.

(A) Encourage (B) Discourage (C) Discourage (D) Discourage
39. Identify the nominal compound in the following sentence.
Since it is raining you should wear a raincoat.

(A) Raining (B) Since it (C) Should wear (D) Raincoat

40. Use the correct modal auxiliary verb in the blank.

We e on no account allow him to escape.

(A) Would (B) Must (C) May (D) Need

41. Identify the adverb in the following sentence.

He tried to do the sum twice.

(A) Tried (B) To do (C) Sum (D) Twice

42, The range of the figure is - gcm

(A) 118 cm (B) 28 sq. cm (C) 28 cm (D) 118 sq. cm
43, The value of each angle of a square is -
(A) 60° (B) 70° (C) 80° (D) 90°

44, Write what will be the next figure -

Sill=N
) (7 ®/ | © A:D’ Q




45. Which of the following is not a condition of congruence of triangles -
(A) arm-arm-arm (B) arm-any-arm (C) any-any-any (D) any-arm-any

46. Which of the whole numbers does not obey the exchange rule?

(A) Addition (B) Subtraction (C) Addition and subtraction (D) None of these
47. Square root of 1.69 -

(A) 13 (B) 1.3 (C) 0.13 (D) 13.03

48. Converting 144 km/h to m/s will be -

(A) 40 m/s (B) 33 m/s (C) 20 m/s (D) 44 m/s

49. The square root of (242+102) is -

(A) 24 (B) 25 (C) 26 (D) 28

50. Divide the following: 7a'b’c’/a’v’c’

(A) 7a’wc® (B) 7ab’c® (C) 7a’bc® (D) 7ab’c?

MAT Question

51. P, Q, R and S are playing cards P and Q are partners. S faces towards south. If P faces towards

east then who faces towards north?
(A)Q®B)R()s(D)P

52. Looking at the girl sitting next to him, Atul said, “She is the sister of the husband of my wife.”
How is the girl related to Atul?

(A) Sister-in-law (B) Daughter (C) wife (D) Sister

53. Use correct word to complete the simile.
As deep as the ........ .
(A)Earth (B) River (C) Pond (D) Ocean

54. What will be next - 34, 44, 54, .....

(A) 74 (B) 64 (C) 84 (D) 24

55. If ‘a’ means ‘+°, ‘b’ means ‘-’, ‘c’ means ‘x°, and ‘d’ means ‘=, then what is the value of 8
c2b3a4?

(A)13 (B)11 (C)17 (D)19
14



56. A clock shows the time as 3:15. What is the angle between the hour and the minute hands?
(A)0° (B)7.5° (C)90° (D)37.5°

57.If ‘MOON’ is to ‘NOOM’ as ‘STAR’ is to ...?
(A) RATS (B) TSAR (C) ARTS (D) TARS

58. Find the odd one out: 32, 64, 128, 256, 300
(A)64 (B) 128 (C)256 (D) 300

59. Spot the odd one: Rose, Lotus, Jasmine, Banana

(A) Rose (B) Lotus (C) Jasmine (D) Banana

60. If it takes 6 men 9 hours to build a wall, how long will it take 3 men to build the same
wall?

(A) 12 hours (B) 13.5 hours (C) 18 hours (D) 27 hours

61. A father is 3 times as old as his son. After 15 years, he will be twice as old as his son. What
is the father’s current age?

(A)30 (B)45 (C)60 (D)75

62. What comes next in the pattern: 5, 10, 20, 40, ...?

(A)50 (B)60 (C)70 (D)8o

63. If you multiply this number by any other number, the answer will always be the same.
What number is it?

(A0 (B)1 (C)10 (D)5

64. If you have a cube with a side length of 4 cm, what is the volume of the cube?

(A)16cmd (B)24cmd (C)64cm3 (D) 32cm?d

65. T is the brother of U. U is the mother of V. V is the sister of W. How is T related to W?
(A) Uncle (B) Brother (C) Nephew (D) Father
66. In a group of 50 people, 30 like cricket, 20 like football, and 10 like both. How many
people like either cricket or football?
(A)30 (B)40 (C)50 (D)e60
67. If a person is facing north, turns 90 degrees clockwise, then 180 degrees anti-clockwise,
which direction are they facing now?
(A) North (B) South (C) East (D) West
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68. What comes next in the series: 1,4, 9, 16, ...?

(A)21 (B)25 (C)30 (D)36

69. How many squares are there in the given figure?

5
L]

_|_

—

(A) 11 (B) 13 (C) 14 (D) 15

70. Which is the missing part in the third figure?

D

w0l ® Of ool @

71. In the given figure,a: b=3:5and c: b =2: 1. What is the measure of the largest angle?

a’ b’ c’

4l -
- L

(A) 110° (B) 100° (C) 80° (D) 130°

72. Rishi is x years old. Pooja is 3 years older than Rishi and 5 years older than Ashish. Find
their total age.

(A)3(x+1)years (B)(3x+1)years (C)(x+10)years (D) 2(x + 8) years

73. Priya sold two different bags for 120 each. She made a profit of 25% on the first bag but
incurred a loss of 25% on the second bag. How much was her overall profit or loss for the sale
of the bags?

(A) Profit of 18 (B) Loss of 40 (C) Profit of 24 (D) Loss of 16

74. Complete the series:

=] ] =] 7
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@A) 25 ) [*F () [V (D)

75. Inthe given figure, the triangle represents  girls,
square represents sportspersons and circle represents coaches. /j N
Which portion of the figure represents girls who are sportspersons
but not coaches?

(A)A (B)B (C)C (D)D

76. Five boys A, B, C, D and E are standing inarow. A is betweenC and D and B is
between D and E. Which of the following pairs represents the boys standing at both the
ends?

(AJC,B (B)E,C (C)E,A (D)A,C

77. P can do a piece of work in 9 days. Q is 50% more efficient than P. The number of days it
takes Q to do the same piece of work is -

(A) 13, (B) 4'/, (C)6 (D)3

B2
x7B
78. 6396

In the product shown above, B is a digit. The value of B is —
(A3 (B)S (C)6 (D)8

79. The bottom, side, and front areas of a rectangular box are known. The product of these
areas is equal to —

(A) The volume of the box (B) The square root of the volume (C) Twice the volume (D) The square
of the volume

80. Tulika wants to run 3km. The track she runs on is '/, of akm in length. How many
times does Tulika have to run the length of the track to run a total of 3 km?

(A%, B)3Y (C)7 (D)12
81. Insert the missing character.

A1 B2 O3 (D)4

25
82. Count the number of triangles in the following figure.

(A)8 (B)10 (C)12 (D)14
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83. This rectangular prism has a length of 14 cm, a height , 14 cm ,
of 8 cm, and a width of 3 cm. What is the volume? uk om

L

(A)25cucm (B)42cucm (C) 112 cucm (D) 336 cucm

84. Nina made a triangle by cutting the corner of a sheet of paper. One
angle is 45°. What is the measure of the third angle of Nina’s triangle?

(A) 30° (B) 45° (C) 55° (D) 60°

85. What will be the number put at the place of question mark (?) in PN
the given figure? ?

(A)18 (B)32 (C)45 (D)112 "

8

86. If brightness is called darkness, darkness is called white, white is called blue, blue is called
red, red is called green and green is called yellow then what will be the colour of milk?

(A)red (B)white (C) yellow (D) blue
87. Next term of the series 2, V5, V2x3, V7, 2V2,.... is
(A)10 (B)3 (C)V11 (D)V13

88. Find the number in the position of ¢?° 13 17 25 ?

(A)41 (B)45 (C)50 (D)52 A /\ /\ /\

5 12 8 15 7 24 9 40
89. Carl, Dylan and Edmund are best friends. Only one of them knows how to drive. Carl: |
can drive. Dylan: | do not know how to drive. Edmund: Carl does not know how to drive!
Only one of them is telling the truth. Who can drive?

(A) Carl (B) Edmund (C) Dylan (D) All are lying

90. Arrange the following words in a meaningful order.
1. Family 2.Community 3. Member 4. Locality 5. Country

(A)3,1,2,4,5(B)3,1,2,5,4(C)3,1,4,2,5(D)3,1,4,5,2

91. A group of people go to a restaurant for a dinner. They requested to be seated at the same
table. The restaurant has only rectangular tables that can be joined end to end to form a
large, long table. Study the figure given below.

X X X X X X




How many people can be seated if there are 20 tables?

(A)60 (B)94 (C)82 (D)76

92. A doctor gives you three pills and tells you to swallow one pill every hour. How long would
it take for you to complete the course?

(A)lhr (B)2hrs (C)3hrs (D)4hrs

93. The day before two days after the day before tomorrow is Saturday. What day is it today?
(A) Friday (B) Thursday (C) Wednesday (D) Tuesday

94. In a race, you passed the person in 2nd place. What place are you in now?

(A) 1st (B) 2nd (C) 3rd (D) 4th

95. Find the odd one out: Oxygen, Hydrogen, Gold, Nitrogen
(A) Oxygen (B) Hydrogen (C) Gold (D) Nitrogen

96. Choose the odd one out: Algebra, Geometry, Calculus, Dictionary

(A) Algebra  (B) Geometry  (C) Calculus (D) Dictionary

97. Water is to Liquid as Ice is to:
(A) Cold (B) Solid (C) Freeze (D) Crystal

98. ‘Heart’ is to ‘Circulation’ as ‘Lungs’ are to:

(A) Breathing (B) Oxygen (C) Carbon dioxide (D) Nutrition

99. Find the odd one out: 3, 5, 11, 14, 17, 19
(A)3 (B)14 (C)11 (D)19

100. If ‘PENCIL’ is coded as ‘OCDMFK’, how is ‘BRUSH’ coded?
(A) AQTVG (B) AQTRG (C) CQTSG (D) ASVGU
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ROUGH WORK




